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A FEHLE S P (DHCP) 88 6% A 30 4 Bd & ] 1P #b ik 3] DHCP % 5+, Cisco 10S
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DHCPDISCOVER(broadcast
Host A (broadeast) Cisco 10S

DHCPOFFER (unicast) DHCP server

DHCPREQUEST(broadcast)
DHCPACK (unicast)

B 3.1 DHCP T {E3 A 1%

3.2 RW1 BMEBHEHEEE

3.2.1 2% 45 4f

Wi & 28 I p O X 1 %, & X Router0 2 DTE % %, Router]l 2§ DCE %
% AEHI Sk 64 000k, LI 3.2,

WH % IP H it St 1
Router0 192.168.0.1 S2/0
Routerl 192.168.0.2 S2/0
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Router-PT Router-PT
Router0 Routerl

I 3.2 A Y I
3.2.2 2mAaR

I 3k X % R routerO FHE A% router] fTCE L 25 2 7E B AT A LAY TG L i AR
AT LA i 8 AT LR B A

(1) B4 % ph 2% 09 TP itk A% i 48 B 0785

(2) BEATIEE ML

3.2.3 2BY B
(1) &5 1P #iht ALy =2,

Router0 > ena

Router0 # conf t

Enter configuration commands, one per line. End with CNTL/Z.
Router0(config) # int s2/0

Router0O(config— if) £ ip add 192.168.0.1 255.255.255.0
Router0(config— if) # no shut

% LINK — 5 — CHANGED: Interface Serial2/0, changed state to down

Routerl > ena

Routerl # conf t

Enter configuration commands, one per line. End with CNTL/Z.
Routerl (config) # int s2/0

Routerl(config— if) # ip add 192.168.0.2 255.255.255.0
Routerl (config— if) # clock rate 64000

Routerl (config — if) # no shut

% LINK — 5 — CHANGED: Interface Serial2/0, changed state to up

[2R) ®47i@E42% 2% % DTE & &4 DCE &% .4 DCE & &2 B4 4 & 4t &
REBTUMRER TREA D R,
(2) @Mk,

Router # ping 192.168.0. 2

Type escape sequence to abort.
Sending 5, 100 — byte ICMP Echos to 192.168.0.2, timeout is 2 seconds:

Success rate is 100 percent (5/5), round — trip min/avg/max = 2/4/7 ms



3.3 EI§2 FRESHEETY

3.3.1 2% 4 4f
B EEE, O EEMNATFM, TR B PCL A PC2 R4 A, WA 3. 3,

W4 IP Hihk: %t H

Router0 192.168.0.1 Fa0/0

Router0 16.16.1.1 S2/0

Routerl (DCE) 172.16.0.1 Fa0/0

Router1 (DCE) 16.16.1.2 S2/0

PC1 192.168.0.2 Fa0

PC2 172.16.0.2 Fa0
Y . Router-PT Router-PT
P ~

3‘ 3‘ 2 7‘:'&& él “a~ Router0 Router1
15 i A8 2 o R 2 & S

(1) 4 5 245 e oy I 8 4 600 P 7 2% !
(2) A PRI, :
(3) TEAf C o 25 6y S R I T

3.3.3 B4 B PC-P
PCO PC1
1 1 i b e
(1) P& o8 b BCE 1P bk 12 55, 52 P AE 4B % %% 53 A
SLERTEIN

Router( # conf t

Enter configuration commands, one per line. End with CNTL/Z.
Router0(config) # int s2/0

Router(O(config— if) # ip add 16.16.1.1 255.255.255.0

# no shut

# int £0/0

(

Router0(config— if)
( )

Router0O(config— if) # ip add 192.168.0.1 255.255.255.0
( )
( )

Router0(config — if
Router0(config— if) # no shut

Router0(config— if) # end

Routerl # conf t
Enter configuration commands, one per line. End with CNTL/Z.
Routerl (config) # int s2/0
Routerl(config— if) 4 ip add 16.16.1.2 255.255.255.0
) # clock rate 64000
) #no shut
Routerl (config— if) # int £0/0
) # ip add 172.16.0.1 255.255.255.0

Routerl(config— if

(
(
Routerl (config — if
(
(

Routerl (config — if

IP 4 1 Be &
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Routerl(config— if) # no shut
Routerl(config— if) # end

Routerl # ping 16.16.1.1

Type escape sequence to abort.
Sending 5, 100 — byte ICMP Echos to 16.16.1.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round — trip min/avg/max = 4/11/36 ms

(2) MLEFAEH.

Router0(config) # ip route 172.16.0.0 255.255.255.0 serial 2/0
Router0(config) # end

[/ — Bk OO 3L s2/0 S 500 5 B B R V%O router0 LR s2/0 F2 1T,

Routerl (config) # ip route 192.168.0.0 255.255.255.0 s2/0
Routerl (config) # end

[BR)Y LT AEETFT—9h IP Hat B X, 6 4o .

Router0(config) # ip route 172.16.0.0 255.255.255.0 16.16.1.2

HAr,“16.16. 1. 2”7 router] [y IP #bhhk .
(3) MM I EERE R,

PC1 > ping 192.168.0.2
Pinging 192.168.0.2 with 32 bytes of data:

Reply from 192.168.0.2: bytes =32 time = 18ms TTL = 126
Reply from 192.168.0.2: bytes = 32 time = 15ms TTL = 126
Reply from 192.168.0.2: bytes = 32 time = 8ms TTL = 126

Reply from 192.168.0.2: bytes = 32 time = 33ms TTL = 126

Ping statistics for 192.168.0.2:
Packets: Sent = 4, Received = 4, Lost = 0 (0% loss),
Approximate round trip times in milli — seconds:

Minimum = 8ms, Maximum = 33ms, Average = 18ms

/ /38 33 0 358 T P - O 3 58 AT .
Router0 # show ip route
Codes: C — connected, S — static, I — IGRP, R — RIP, M — mobile, B — BGP
D — EIGRP, EX — EIGRP external, O — OSPF, IA — OSPF inter area
N1 — OSPF NSSA external type 1, N2 — OSPF NSSA external type 2
E1 — OSPF external type 1, E2 — OSPF external type 2, E — EGP
i - IS-1IS, L1 — IS-1ISlevel—-1, L2 — IS—1IS level -2, ia — IS- IS inter area
% — candidate default, U — per — user static route, o — ODR



P — periodic downloaded static route
Gateway of last resort is not set

16.0.0.0/24 is subnetted, 1 subnets

© 16.16.1.0 is directly connected, Serial2/0
172.16.0.0/24 is subnetted, 1 subnets
S 172.16.0.0 is directly connected, Serial2/0

C 192.168.0.0/24 is directly connected, FastEthernet0/0

//RRAE SR AR T LT B el A routerO B E 1 OO o AN B3 I 46 R — A i 2 B e PR R0 4

3.4 I3 FIAKKH

3.4.1 2% 45 4h
Wi &5 0 R 2% % . WA F R, F Ml PCL A PC2 BEHUR A, WA 3. 4,

WA 1P b ik % H
Router0 192.168.0.1 Fa0/0
Router0 16.16.1.1 S2/0
Router1 (DCE) 172.16.0.1 Fa0/0
Router1 (DCE) 16.16.1.2 S2/0
PC1 192.168.0. 2 Fa0
PC2 172.16.0.2 Fa0

Router-PT Router-PT
3.4.2 ;‘!ﬁ\ d~] ,'51 Router0 Routerl

(1) T BRI K phy T 1 S5 M

(2) HEHR BN B BB AR
3.4.3 £BRS R

-

=)

PC-PT

T S0 AT DA R A % PR S A b iR AT PCI
(D) MIBRIFEA SR H . 3.4 EERIA R PR

Router0(config) # no ip route 172.16.0.0 255.255.255.0 s2/0

Routerl (config) # no ip route 192.168.0.0 255.255.255.0 s2/0
/ /I DA i 4 BT LATE Ji i 2 BT “no”
(2) T BOA B

Router0(config) # ip route 0.0.0.0 0.0.0.0 serial 2/0
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Routerl (config) # ip route 0.0.0.0 0.0.0.0 s2/0

(3) #EMIA

Routerl # ping

Protocol [ip]:

Target IP address: 192.168.0.1

Repeat count [5]:

Datagram size [100]:

Timeout in seconds [2]:

Extended commands [n]:

Sweep range of sizes [n]:

Type escape sequence to abort.

Sending 5, 100 — byte ICMP Echos to 192.168.0.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round - trip min/avg/max = 1/2/5 ms

[1BR)] 44 .BiEZ iR 55 ARBZAGREI; RE,T M ping %4 R F 43
X 6945 A 7 ik,

3.5 SCI4 4 DHCP HARE

3.5.1 %%k
— B A — B AALE R = & PCLO H AT BC 1P AF MRS WAL 3.5,

W75 44 IP Hihk: it
Router0 192.168.0.1 Fa0/0
PCO 192.168.0. 2 Fa0
PC1 192.168.0. 3 Fa0
PC2 192.168.0.4 Fa0
Router-PT
3. 5. 2 'Jﬂ:*% él /’f}i Router0

Switch-PT
Switch0

(3) & Ui il & .
3.5.3 BRI R
(1) it 8 %t #3424 DHCP IR %5 .

(1) %48 DHCP TAEJEFA TAE .

(2) DHCP IR %5 #8 B AT & .
é;@
[mm]

Router(config) # ip dhcp pool pooll

/ /5 L HLhk M, fiy & pooll,




Router(dhcp — config) # network 192.168.0.0 255.255.255.0
Router(dhcp — config) # default — router 192.168.0.1

/[ E SCBRIN G L BV B2 3 11 £0/0,
Router(dhcp — config) # dns — server 192.168.0.5

/ /5 X DNS IR %5 %% .

Router(dhcp — config) # option 150 ip 192.168.0.6

//3E X TFTP k% % .

Router(dhcp — config) # exit
Router(config) # ip dhcp excluded — address 192.168.0.2 192.168.0.10
Router(config) # end

/A58 TP Mtk 5
(2) & PC & P, WWE 3.6,

IPAC B X
¢ BN
DHCPi& K pRT.
c FHRE A
Pt [192.168.0.11
FRIERD |255.255.255.0
iM% [192.168.0.1
| DNSERE S [192.168.0.5 |

K 3.6 BE PC M

/ /¥ TP BB A Sh3REG T UG B [ 3B TP dik (\DNS ik 55 68 2 8.

PCO > ipconfig /all

Physical Address................: 00E0.F96D. BD5C
IP Address......................: 192.168.0.11
Subnet Mask.....................: 255.255.255.0
Default Gateway.................: 192.168.0.1
DNS Servers.....................: 192.168.0.5

(3) &AM HABEH .

Router # show ip dhep binding

IP address Client — ID/ Lease expiration Type
Hardware address

192.168.0.11 00EOQ. F96D. BD5C —— Automatic

192.168.0.12 00D0. 585D. 8DA2 == Automatic

192.168.0.13 00EQ. 8F77. EAE2 == Automatic

// LA 378 DHCP IR 55 4% B 80 73T 45 % 7 i 9 TP ik LK X 1 ) MAC Ha ik A5 0L
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3.6 S£I§ 5 DHCP R E

3.6.1 2% 44t

Wi 3.7 fizas . Router0 fHAE DHCP R 45 2% (19 8 {6 . 6 5¢ 1) PCO FIr 46 [ 2% A1 PC1 Fif £
W 25 1) WL 25 40 T 1P ik, BT A Router0 7525 LA~ #udik it . Router] 155 gk, 4%
AW 43217 RIPv2 P80, B 08 0 2 TP 3 1

B 44 1P 3 41 it M
Router0 192.168.0.1 Fa0/0
Router0 16.16.1.1 S2/0
Routerl 172.16.0.1 Fa0/0
Routerl 16.16. 1.2 S2/0
PCo - Fa0
PC1 —— Fa0
Router-PT Router-PT
3.6.2 ‘j;,ffﬁ é] ;";‘1 Router0 Routerl
AT R DHCP ha gy D
DHCP Ik 5 .

(1) %48 DHCP H 4t R 45 T AE R B AN TAE T ik
(2) %42 DHCP rh 4k Ik 55 %5 ic & i 72 .

P g 1 PC-PT PC-PT
3.6.3 ’l‘-%"/”_ " PCO PCI
(1) Fic ¥ % i #% Router0 ) DHCP R 55 . K 3.7 DHCP H14k5: %

Router > ena

Router # conf t

Enter configuration commands, one per line. End with CNTL/Z.
Router(config) # hos router0

Router0(config) # int £0/0

Router(O(config— if) # ip add 192.168.0.1 255.255.255.0
Router0(config — if) # no shut

% LINK — 5 — CHANGED: Interface FastEthernet0/0, changed state to up
% LINEPROTO — 5 — UPDOWN: Line protocol on Interface FastEthernet0/0, changed state to up

Router0(config— if) # exit
Router0(config) # router rip
Router((config — router) # net 192.168.0.0
Router((config — router) # net 16.16.1.0

(

Router0(config — router) # exit



//AEE T RIP % phy B8 O B 190 2 18 1 . J5 1w 2 19 B 47

Router0(config) # ip dhcp pool pool0

Router0(dhcp — config) # net 192.168.0.0 255.255.255.0

Router0(dhcp — config) # def 192.168.0.1

Router0(dhcp — config) # dns — server 192.168.0.3

Router0(dhcp — config) # option 150 ip 192.168.0.4

Router0(dhcp — config) # exit

Router0(config) # ip dhcp excluded — address 192.168.0.1 192.168.0.5

/ /5 X PCO JT 7% H bkt .

Router0(config) # ip dhcp pool pooll

Router0(dhcp — config) # network 172.16.0.0 255.255.255.0
Router0(dhcp — config) # default — router 172.16.0.1

Router0(dhcp — config) # dns — server 192.168.0.3

Router0 (dhcp — config) # option 150 ip 192.168.0.4

Router0(dhcp — config) # exit

Router0(config) # ip dhcp excluded — address 172.16.0.1 172.16.0.5

//5E X PCL T 78 Hb bk 3t
(2) Tt 'E Mt #% Routerl By 4Kk 55 .

Router # conf t

Enter configuration commands, one per line. End with CNTL/Z.
Router(config) # hos routerl

Routerl (config) # int £0/0

Routerl(config— if) # ip add 172.16.0.1 255.255.255.0
Routerl (config — if) # no shut

% LINK — 5 — CHANGED: Interface FastEthernet0/0, changed state to up
% LINEPROTO — 5 — UPDOWN: Line protocol on Interface FastEthernet0/0, changed state to up

Routerl (config — if) # int s2/0
Routerl (config— if) # ip add 16.16.1.2 255.255.255.0
config— if) # clock rate 64000

)

config— if) # no shut

Routerl

—~ o~~~

Routerl

% LINK — 5 — CHANGED: Interface Serial2/0, changed state to down
Routerl (config — if) # int £0/0
Routerl (config— if) # ip helper — address 16.16.1.1

/ /T T Ak B 2

Routerl (config — if) # no shut

Routerl (config— if) # exit

Routerl (config) # router rip

Routerl (config — router) £ net 16.16.1.0
Routerl (config — router) # net 172.16.0.0
Routerl (config — router) # end
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(3) % p il i

PCO > ipconfig /all

Physical Address................: 0060.4720.1D1B
IP Address............ccoovvv...t 192.168.0.6
Subnet Mask.....................: 255.255.255.0
Default Gateway.................: 192.168.0.1
DNS Servers.....................: 192.168.0.3

PCl > ipconfig /all

Physical Address................: 0001.4373.EE79
IP Address............cccvvven.t 172.16.0.6
Subnet Mask.....................: 255.255.255.0
Default Gateway.................: 172.16.0.1

DNS Servers.....................: 192.168.0.3

(4) [ 4% P 4k

Router0 # show ip dhcp binding

IP address Client — ID/ Lease expiration Type
Hardware address

192.168.0.6 0060.4720.1D1B == Automatic

172.16.0.6 0001.4373. EE79 == Automatic

Routerl # show ip interface
FastEthernet0/0 is up, line protocol is up (connected)
Internet address is 172.16.0.1/24
Broadcast address is 255.255.255. 255
Address determined by setup command
MTU is 1500
Helper address is 16.16.1.1
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